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Test Syllabus: Unit # 2 (Theory of Quadratic Equations)

St. Name

Test

Math

T. Marks

30

Time

60 Min

F. Name

Class

10th

T. Code

U#2

T. Date

S ) e (e us A CS C”'j C““L““ é ‘J\J‘“‘)?‘ XA ‘5.3\5 o Cs CT;DDJJ‘A,B,C Gl s ~iSan )1? CS d‘)‘“‘)ﬁ“‘i’}*
e Cppa (S S8 5 SA L S8 S ol ) e Sl e e 0 b S ke S0 il adlaie 3ldas Sl
8- 5 i lale ol a0 )5S0
NOTE: Four possible answers A, B, C and D to each question are given. The choice which you think is correct, fill that circle

in front of that Question with Marker or Pen ink. Cutting or filling two or more circles will result in zero mark in that

question.8
XAy =4y X +y =(x+y) -1
(x+wy)(x+w2y) D) (x—wy)(x—wzy) © (x—wy)(x+w2y) (? (X"‘WY)(X—WZ)’) (A)
By using synthetic division for (x2 + 7x—1)+(x+ 1), e o e e )
quotient will be. B ed diala S (x2 +7x— 1)+ (x + 1)
X +1 (D) X-7 ©) X +7 (? X +6 (A)
. I 1 1 1
is equal to........ —+— = HR—+— | 3
a f a
1 (D) 1 1 ©) a-pf (B) a+p @)
a a p apf af
If o, /3 are the roots of the equation 2x* —3x—5=10 Susodsn S2x°-3x-5=0 sbw , B S 4
than «, [ is = Hra, f |
-3/2 | (D) | 3/2 (C) | -5/2 | B) ] 5/2 (A)
Cube roots of -1 are: on Sl S -5
~Loo (D) —l-o,0 (C) -1, w,0 ®) | -l-0o-o’ (A)
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Roots of equation 4x*> —5x+2=0are...... on oSy S 4x7 —5x+2=0 S | -6

None U 58 | (D) | Unreal i~ , (C) | rational 3kt | (B) | Irrational ¢kl »e | (A)

Two consective positive numbers whose product is182 = 182 iy diala S (g dhae ] e Juslisa 50 7
are:

-13,-14 | (D) | 14,15 ©) | 13,14 | B) ] 12,13 (A)

o' equals . = et | 8

® | D | - © | &’ | ®) | o’ (A)
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2. Answer the following Question:

(2xT7=14) : ¢ cl g2 paida S ) g Jod 432

(@) Simplify it. (—1+\/—3)‘/’+(—1—\/—3)6 (_1+./_3)6+(_1_ /__3)6%)5 ” ()
() | Evaluate: (2+20—20" 3-30+207) (2420207 J3-30+207 )08 pshxa i | (i)
(iii) Find discriminate of x> —3x+3=0 ‘02 S aslaa 02i€ 3 3 S X% —3x+3 =0 e | (i)
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(iv) Define simultaneous equations. -0 S Gl (S Ol s 2 3 | (i)
Using synthetic division, find quotient and pstra (AL ol Crad Juala s Jlaxinl S anli S 5| (V)
) remainder when (x2 +7x—1)+(x+1) (x2 +7x—1)+(x+1) QS
(vi) Define synthetic division. - S el (Sl S 5| (vi)
Write quadratic equation having root: 3+423-2 0 Gl e a2 53 s iy (vii)
(vii) ’ "’ ’
3+4/2 33— V2
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Note: Attempt the question in detail. (4+4=8) e Jgudiig sl

Q:3 (a) Prove that: o Sl (@) 3 el g
4y 47 Bryz=(x+ y+zfxrav+ o’z x+a)2y+a)z) X4y 42 3uyz= (et y+z)et oy + 0z + 0y +ex)

(b) If @ and f are roots of Ix* + mx+n = Othen Sus oy S lx2+mx+n:OU-v\;1~wﬂJ;‘a S

finde’° +a’ S o slre el S0 B+ 07 B
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